Der Hit von Neil Diamond

Song sung blue

. ev'rybody knows one
fiir gemischten Chor und Klavier oder a cappella

Musik und Text: Neil Diamond
Chorbearbeitung: Pasquale Thibaut
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Song  sung blue, ev - 'ry gar- den grows one.
Song  sung blue, sleep-ing on my pil - low.
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Me and you_ are sub - ject to— the
Fun - ny thing, but you can sing__ it with a

blues now and then.
20 cry in your voice.

when nnd(ewwdhstraafr@chthch vagfolgtiou sing them

And be - fore you know it start to feel-ing good, you sim - ply

out a- gain, you sing them out  a - gain.
got no choice, you sim-ply got no choice.

And you sing:
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Song sung blue, ev - ’ry-bo - dy knows one,
Song, sung blue, mh mhmh mh mh mh
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